
EXPLODED VIEW AND SPARE PART LIST

BRISTLE BLASTER® CORDLESS (PLANETARY GEAR)

Art.-Nr.            EN / Description DE / Bezeichnung                                  

Protection Cover

Arm for Accelerator Bar

Planetary gear housing

Drive shaft of planetary gear

Output shaft of planetary gear

Fronthead housing, left

Fronthead housing, right

Screw M4x25, Torx, 6 pcs.

Screw M4x 12, Torx, 3 pcs.

Screw M4x20, Torx, 1 pc.

Screw M4,2 x 25, Torx, 4 pcs. 

Mountig plate for handle

Screw M4x14, Alllen bolt, 4 pcs.

Planetary gear set

Steel pin 3 x 8 mm (1 pc.)

Sealing ring, for gear housing

Schutzhaube

Arm für Beschleunigungsstab

Planetengetriebe-Gehäuse

Antrieb zu Planetengetriebe

Abtrieb zu Planetengetriebe

Front-Gehäuse, links

Front-Gehäuse, rechts

Schraube M4x25, Torx, 6 Stk.

Schraube M4x 12, Torx, 3 Stk.

Schraube M4x20, Torx, 1 Stk.

Schraube M 4,2 x 25, Torx, 4 Stk.

Montageplatte für Handgriff

Schraube M4x14, Inbus, 4 Stk.

Planetengetriebe (1 Stk.)

Stahlstift 3 x 8 mm

Dichtring für Planetengetriebe

ZU-029

37009

38006

38002

38003

38080

38085

38090

38095

38100

38106

38110 

38115

38135

38140

38170

MontiPower   I   Part of Monti Group
MONTI – Werkzeuge GmbH
Reisertstr. 21      
53773 Hennef I   Germany
T +49 2242 9090 630
info@montipower.com

MontiPower   Americas
7677 Coppermine Drive
Manassas VA 20109
T +1 703 396 8777

www.montipower.com S
pa

re
 p

ar
ts

B
ris

tle
 B

la
st

er
 C

or
dl

es
s

(p
la

ne
ta

ry
) 

20
2

4-
0

6-
12

37009

ZU-029

38002

SB-7xx / SB-BBP

38100 38095

(6x)

(1x) (3x)

38085

38115

38110

(4x)

38090

38106
(4x)

38006

*

*

*

38140



S
pa

re
 p

ar
ts

B
ris

tle
 B

la
st

er
 E

le
ct

ric
 U

lti
m

a
te

 (
9

00
W

) 
20

2
4-

06
-1

2

MontiPower   I   Part of Monti Group
MONTI – Werkzeuge GmbH
Reisertstr. 21      
53773 Hennef I   Germany
T +49 2242 9090 630
info@montipower.com

MontiPower   Americas
7677 Coppermine Drive
Manassas VA 20109
T +1 703 396 8777

www.montipower.com

EXPLODED VIEW AND SPARE PART LIST

BRISTLE BLASTER® CORDLESS (PLANETARY GEAR)

SB-7xx / SB-BBP

31207: vibration absorbing handle

38007: Fronthead, pleanetary gear, complete
to Bristle Blaster Cordless

36501: Motor Unit, Cordless

Motor Unit, Cordless

Carbon brushes, pair    

Vibration-absorbing handle

Fronthead, planetary gear, 
complete

Motoreinheit, akkubetrieben

Kohlebürsten, Paar

Antivibrationshandgriff

Fronthead, Planetengetriebe, 
komplett

36501

37018 

31207

38007

Art.-Nr.         DE / Bezeichnung                                EN / Description 


